1. Find indefinite integral in a) and definite integral in b).
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2. Suppose that [ f(t)dt = 2 ~ 2z + 1. Find f{=z).
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3. Find the area of the region enclosed by the curves y = —z* + 4 and the line y = 3|z}
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4. Find the volume of the solid generated by revolving the region bounded by the lines and curves

about the z-axis.
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5. Use the shell method to find the volume of the solid generated by revolving the region bounded by the
lines y = 2r, y = z/2, and z = 1 about the y-axis.
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6. a) Show that the value of f; VI + Ldz lies between 8 and 24 without actually computing the integral.
b) Compute the value of f: vz + 1de.
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